[image: image1.png]IR A M Al e g
B Mok
— HHE

. BAEEEa N ERANE Y, AREbERSMET, BA (D
ab<h B ab>b c a+b>0 D a-b>0

1
A
2. HEMa FTENEY, GRS TEMREL, W™ +57
A
3

0 B 1 c - D2
FREfAFIS, REmIE ¢ D

A 340 53400 FRFZON
B 3x R S3x+ IR TS AH R 3
© 4(x=7)=6(5-27x) W 6(5-27y) =4(y—7) FEFMIE

b 3Rl Lpmmn
a 3

4. BT X0 (3a+8)x=T =0, Wab (

A E# B I c s D s
. Wfa-b>a+b, BL )

A a=b>[a+d| B ab<0 c -2b>2 D-2a>2b

3+

)R O

s 7?&?}1{ Toos

i (3-2) B (21) c (4-5) b (07)

T, RES EHPRSHOA 10 fbEH, RS L AW 10 AT, i
GEFIS 6 M T 6.6 B0, MINERIN 10 I BTHMEE ¢ )

A up B 1328 B 1L8H D 9.9B
s . LF A A M B : 1357.-1991199319951997.1999 f
1.4.7.10.---,1990,1993,1996,1999. [ fif tH BLZE X A 0 s OB BOLE D
4 833 5 334 c 835 D 336
9. Sype=s D.ESFMEBCHAB Ey % Sy = Sie =Suicp» WSue= ¢
1 1 1 1
- B - c - b oo
5 6 7 8

10. HXTF x 771203+ m =0 ke, [Bx—4+n=0 LH—Ph, [4x=5|+k=0HFH

#, Wmnk@IONERRE ¢ )
A me>n>k B nsk>m ¢ keme>n D mek>n
= mEE




[image: image2.png]JUORRTE = S
78" -78x22+22°

12 #a+19=b+9=c+8, M(a=b) +(b=c) +(c-a)’=

18, ER=MEAHI SR

14, ZERE NS F% 150 KR 200 K, BT THAEFAT

WL, CETEERRENEZEERE QSR EM R 10 B, BALE EHRE
BRI E O SR AR R B

15, FEALL 4 TR/ IR s R B 20, 25 SLLL 6 TR/ i 38 M 2 M8 1 7 3,
AFENGEE— WM VEB R T K/

16. MFANT s AR, BEW T—FERfE: (n) RFFR 0 0L %M RN BAY

w(7)=2,(12)=5, %%. W((19)x(98))= [ENHTRE S T9)
17 AR, W B SHECHOMERGAR, A
R AR 1 SOREFART 2 WRERAET 5 A o
WA 10 1R, E ) TR ST 21, M) B
BRI SRS L

qQ
18, BAEEN 1 W%IES’EA'DB'EADBQWE*@- 0 [ B

POQO' RTEFi T, MBAMHELMmBE___

19 (3a+28)¥ +ax+b=0 AT ¥H—i— R, B AN, Wy

20. HRUEB) £ 7E 400 KA MM LT 10000 KL, . ZFEiEsh ARG, &
ARILE, FE 15 Rk P INPUERE, 7E5 18 SRR PIB EZIF AL Z, 75 28
SHeEf, PREUE EZ, TFES 23 4 50 B, WBAL, WA Z MR K F 2
S,

EE

21. 238 AR ERSERL 4845, F: 3% 23 MEMBK ALETREAINBANELES
ST GHIRMEEE, H NI,

22. () WIRTEFI LI 6 B S (A =400, BREIPHEAESIN S5 =%
EEAE, TR k.

(&) BEAEFE P LHIH 7 A ELS (ER= A8, MRENTHERERISH =%
EEAET IR, R A





